DU 14 s BRI SO i R 7R 5]
\I& )| ‘\_\4
(pIRZE) - Bt
Bl (Es504)
—, SRS (AT 10 /NG, S5, 504 FEENIFILHMIA SRR E—

MEFEHEEEKRD, FIEEIEY. Hik. ZESEREHITLS.
1. WS 4={1,3,5, B={3,6,9}, WMANB=

A. @ B. {3} C. {1,5,6,9} D. {1.3,5,6,9}
2. WSy =V + 1 B0 U

A {x|x<-1) B. {x|x=-1} C. {x[x>-1} D. {x|x=-1}
3. BHrFHEI Ea=2,1), b=(-1,1), Wa+b=

A. (1,2) B. (1,3) C. (3,0) D. (3,2)
4. BRELy = sin 2x B/ IE IR

A. g B. = C. 2n D. 4r
5. A x| < 1 HRIE

A. [-11] B. (=0,—1]JU[L, +)

C. (=11 D. (—0,—1)U(L,+ )
6. BRELy =2"MERKECH

y ty Y

-
\

ol /1 X 0 x
/1 ]\_
O X o0 X
A B C D

7. EFERES o, a =1, a,=2, Wa, =
A. 2 B. 3 C. 4 D. 5

8. FEBbER At m v, B E i B AL B RE I XUIEY” BUiEA
{f, BUEMN 6 LBUTHAERE 2 N —FZEIZEASEII, AL DFANE

A. 6Ff B. 15 C. 30 Fh D. 36 fi
9. CHIEREL f(x) EXAER ERIEREL H () =1. FIMEZE xeR, f(x)=1E-x)1ERK
A, W F9) =

A -4 B. -1 C. 0 D. 1



10. aéenﬂﬁlc—+y—2—1(a>b>0)ﬂﬁﬂﬁ/\ ,,,,,, S F (-10), F(10), BbEKe=- .

DI C BobRifE T REA

2
A. %+y2:l B. X 4)=
2 2 2 2
c. “+2 pD. 2 4+2
42 4 3

FUE  (35059)

= ETRE (AR 3N, B4 S, #125)
BESPENSRPELEHRER. BE. THEHLS.

11. log,2= .
12. fEAABCH1, W14, B, CHIXHALHa, b, ¢, B%la=2b, £4=2/B, N
/B=

13. WA, 4. FI=EAT), B A 200 LB, 2) A 500 LB, NI A 100 482
T. MEAAFEITRIAN NIEBHE, 575 BBORINER TN R, Bidnlbdee R H 5
EMEER 7, WEAT HE 40 ZER T, T N BIBUOR EAARSINTAE, WM MH)
THERAYER T NECh .

=\ BREB (KK I /NI, F14 /01245, 15, 16 NEE 135, #£3845) BEN

SN FiRA, RS IESCEE SR
14. TEEZEHO a ) H, a,=4, /‘%d 2, REI {a,} BB FILHT 7 WAL S,

15. W&, ZE=tH 4-BCDY, AB1BC, AB1BD, BClBD, AB=BC=BD=1.
() uEBH: 4B L CD;
(1) >R=H#HE 4 — BCD BT,

16. CHIEZL . x—y+2=05H% P71, HEZL T 0,1).
(1) REZEL e,
(1) SRIEOTEEZ y =2x b, BRRV2, HE5HEZ L HYIIRIE bR 2.



